PR23FEMEEI Y FY TP EFESEIT OV I TERR

=iz BEEIJ)ILDJVST FI1—2(6473Yards Par 72)
28 ¢ E23F985H
TIVEU—: 144%
Bz 1368
5Y) 281 s 237 5Y) 281 g 237 5Y) 281 g 237 5Y) 28 g 237
1 R ES P 75 (39.36) ik F08 81  (39.42) EHB 3A FEEEe 86  (43.43) BRBE =t 93  (46.47)
GH BR  xroukryr 15 (39.36) B EZ IPB 81  (39.42) B B F=REHDSD 86  (43.43) wE —% PR 93  (46.47)
AW MUER  #HFE 75 (37.38) 44 EHD B— e 82  (42.40) IMKIE= GMG/\EF 86  (43.43) BA B TEEEE 93  (45.48)
4 2B IEE BES 76 (40, 36) IR X == 82  (41.41) [ A I = 86  (42.44) FiE K troukrve 93 (44.49)
5 JTAESE EFD 77 (40.37) e HelLso2 82  (41.41) =) SR £ 86  (41.45) WE =F =s=thw 93  (42.51)
EEEZ B 77 (39.38) JEEF SE—B0 i) 82  (38.44) BATE PR 86  (41.45) 128 BIIR K [Eza 94 (47.47)
B BX 18129 77 (39.38) - ME FE BB - REF BB =xEE 86 (40, 46) 129 HE S REAR 95  (50. 45)
BB  Tow 77 (36.41) 48 XEL BIE BPBR 83  (46.37) AN &2 FiF 86 (40, 46) TR EBER 2IR 95 (46, 49)
9 ZELIBA B 78 (41.37) mED 58 #e 83  (43.40) 90 KNI IF— W 87  (45.42) UK B B 95  (46. 49)
B8 K  KEK 78 (40, 38) A+E FET MW 83  (42.41) BT t& BE 87  (44.43) 132 MR 2l Pig 96  (46.50)
R BE PBR 78 (39.39) B St s 83  (42.41) AN J\BE  ZLhwWw 87  (44.43) 133 KEE 3B Pz 97  (48.49)
Ll 6BBE  #83 78 (39.39) OF & # 83  (42.41) RO A I\BR-WEB 87 (43,44 134 B £ sthWw 98  (50.48)
B EE HE 78 (39.39) =i IS s=tFuy 83  (41.42) =2 N N\EF 87  (43.44) 135 )110 %22 ==+ 118 (44.74)
e B BEE 78 (39.39) FEBKRK srFvY 83  (40.43) INPK 82— BREe 87  (41.46) =i O 8 G
/K EE Ers 78 (39.39) 55 P8 BB L vR— 84  (46.38) L IE— AUnEwD 87  (41,46) x5 R BB TFSTR
iR 5% # 78 (37.41) [ X5 S 84  (44.40) BRiE= B 87  (39.48) x5 EE B BERAB®
SHEE BER 78 (37.41) KE B pes 84  (43.41) 98 I T8 m=t 88  (48.40) x5 BB IR2 FE=
18 MU RE P13 79 (41.38) M IEFl R 84  (43.41) g £= B 88  (45.43) xiH PEFNE FL
e BX =% 79 (40, 39) SKEK =zBuEr 84  (43.41) ML RTEA xieig 88  (45.43) x5 WE EE L1 YmR—
RNE =R 2R 79 (40, 39) m B= BB 84 (42,42 B =E  x¥Es 88  (43.45) xig BH HRX +wIEP
5@ 1B ZE 79 (39.40) SBH 88— swHE 84  (42.42) 102 MH W= 28 89 (44, 45) x5 WIE IR sxroumrvr
g wnRR BN 79 (39.40) NiF 3 =[] 84  (41.43) AB W B 89  (44.45) & RFD BBYE s
WA K GMGINEF 79 (39.40) WR —BB Frwoxsr+ 84 (40, 44) X, B ZWO Il 89 (44, 45)
RS SUE 79  (38.41) EFE B 84  (39.45) EE ES  KEE 89  (43.46)
fH % [SJE 79  (38.41) = N - =P 84  (39.45) 106 B 13 8 7 1% 90  (48.42)
W B sx= 79 (37.42) 66 BN RE ®Bs 85  (45.40) I &8 mEsFuy 90 (46, 44)
OO FE O BEMB 79 (36.43) EIR HE  HILao 85  (44.41) Bd BEXK /—vussrm 90 (45, 45)
28 B8 ZM mHWw 80  (41.39) ABEB B 717 85  (44.41) NS RE 188 90  (41.49)
fUEp BEK  Fruoxsk 80  (41.39) BE IEE IPB 85  (44.41) 110 BfY B8R =8 91  (49.42)
PR VR BE 80  (41.39) 2 RE pes 85  (43.42) sSWiE pesE 91 (45, 46)
SBE 1ETT JyvzsvE 80 (41, 39) EBlE 5% 'Y RSIL 85  (43.42) P& EB paicows: 91 (@4.47)
DB H=LEK 80 (40, 40) oH B Tgsxe 85  (42.43) B HER TR 91 (42,49
S8 ER IFB 80 (40, 40) RE BB &= 85  (42.43) 114 120 FUE B 92  (48.44)
FTRIEE EFEW 80  (39.41) s —%8 nFER 85  (42.43) MR — 81R 92 (46.46)
D0gz 2N R 80 (38.42) BER =63 85 (40, 45) SE BE =EAER 92 (46.46)
%6 BABR R 81  (43.38) R B stFYY 85 (40, 45) a5 ®BE 92 (46, 46)
LR 3A PECH0E 81 (43.38) B EE =g 85  (39.46) B LS mes 92  (46. 46)
INVE Z BRE 81 (41,40 78 OE E£v & 86  (45.41) ARARE wrE 92 (46, 46)
=8 8 REH 81  (41.40) AU =M m= 86 (44,42 1B % STihw 92 (45.47)
BRE GMG/\EF 81  (41.40) WE BN =R 86 (44,42 121 M B E3=al =] 93 (47.46)
INAK TH—BR E1xF5 Y 81  (40.41) INFR B mHLroEL 86 (44, 42) BB RK  -vvsssE 93 (46.47)



